CHAPTER 10 SUSTAINABLE GLOBAL DEVELOPMENT

DEFINITIONS 

1) sustainable development development that meets the needs of the present, without

compromising the ability of future generations to meet their own needs; sustainability (développement durable)  
2) global warming the gradual heating of Earth’s surface, oceans and atmosphere (réchauffement climatique)
3) evidence facts or data that make something plain or clear (des preuves)
4) CO2 emissions the releasing into the atmosphere of the colourless, odourless and non-poisonous greenhouse gas known as carbon dioxide; carbon dioxide emissions

5) average the arithmetic mean obtained by dividing the sum of two or more quantities by the number of items (moyenne)
6) exports goods and services sent from one country to another for sale or exchange (exportations)
7) living standards the monetary and non-monetary or social indicators which characterize a person’s lifestyle and which are traditionally measured by a country’s gross national product and per capita income (niveaux de vie)
8) economic growth an increase in a nation’s output of goods and services over time; growth (1) (croissance économique)
9) green growth economic growth and development aimed at protecting natural assets so as to sustain the resources and environmental services on which our well-being relies (croissance écologique)
10) innovators those who introduce changes, new ideas and new technologies (innovateurs) 
11) green innovation new or modified processes, practices, systems and products which benefit the environment and so contribute to environmental sustainability (innovation écologique)
12) environmentally friendly causing reduced, minimal, or no harm upon ecosystems or the natural environment; eco-friendly (écologique, vert)
13) OECD (Organization for Economic Co-operation and Development) an

intergovernmental organization which aims at the coordination of economic development

of member and non-member countries through multilateral trade, trade liberalization, and

economic reform (OCDE=Organisation pour la Croissance et le Développement Economiques)
14) output per capita gross domestic product of a country divided by its population; per capita output, per capita GDP (production par habitant)
15) nuclear meltdown severe overheating of the core of a nuclear reactor resulting in the core melting, which can cause radioactive materials to be released into the environment (fusion nucléaire)
16) GDP (Gross Domestic Product) the total monetary value of the overall output of goods and services produced annually within a country’s geographic borders (PIB)
17) nuclear power generation production of energy by an atomic reaction as an alternative source of electrical power to that supplied by coal, gas, or oil (génération du nucléaire)
18) market economy one that relies chiefly on market forces to allocate goods and resources and to determine prices (économie de marché)
19) assets resources that a company owns or is owed and which can be converted into cash; business assets (actifs)
20) bankrupt officially declared unable to pay one’s debts (ruiné, insolvable)
21) subsidies (1) government provision of finance and other resources to support a business activity (subventions (gouvernementales))
22) competition rivalry between two or more suppliers of goods or services to secure a market share or to win new markets at each other’s expense (concurrence)
23) renewable energy any energy source that is naturally replenished, like that derived from solar, wind, geothermal or hydroelectric action ; renewable (énergie renouvelable)
24) policymakers people who are responsible for or involved in formulating plans and ideas, especially those to be implemented by government; decision makers (responsables,décideurs)
25) greenhouse gases gaseous compounds (such as water vapor, carbon dioxide, methane, nitrous oxide, fluorocarbons) that absorb infrared radiation, trap heat in the atmosphere, and create the greenhouse effect, which in turn, contributes to climate change (gaz à effet de serre)
26) coal-fired power stations electrical power generating plants that make use of the combustion of coal in order to generate electricity; coal-fired power plants (centrale au charbon)
27) Schumpeterian innovation the stimulation of economic growth through the ‘creative

destruction’ of old technologies and their replacement by the introduction of new, innovative ones (innovation selon Joseph Schumpeter)
28) absenteeism frequent failure by employees to report to work at their scheduled time (absenthéisme)
29) life expectancy the average age to which a category of persons will live (espérance de vie)
30) consumption the proportion of national income spent by households on final goods and services; consumption expenditure (consommation)
31) capital depreciation rate a given percentage reduction applied to the cost of a tangible asset each year representing its diminution in value (taux de dépréciation)
32) per capita income total national income (GDP) divided by total population; income per head  (revenu par habitant)
33) utility the ability to satisfy a human want or desire (utilité)
34) research and development (R&D) creative work undertaken on a systematic basis in

order to increase the stock of knowledge, including knowledge of man, culture and society,

and the use of this stock of knowledge to develop new applications (recherche et développement)
green R&D research and development activities that contribute substantially to preserving or restoring environmental quality (recherche et développement consacré à l’écologie)
35) economic welfare the level of prosperity and quality of living standards in an economy; economic well-being (prospérité économique, bonne santé économique)
36) capital stock total amount of physical capital (buildings, plant, machinery), human capital, and natural capital (natural resources) (stock de capital)
Instructions 

1. Turn to the definitions for the text Sustainable Global Development. They refer to

the specialist terms printed in bold type in the list of Useful words and concepts.

2. Use an English language dictionary to find the meanings (in context) of the other words in

the list.

3. Do the exercises to improve your language skills.
Sustainable Global Development

          Sustainability of economic development and environmental policy are key challenges of the twenty-first century. Global warming has been a key issue for all countries of the world economy. It only came on the agenda in the 1980s when scientists increasingly found evidence and developed simulation models which showed that CO2 emissions, cumulated since industrialization in the atmosphere, were raising the average global temperature so that glaciers would start melting and polar ice could turn to water, thus raising the global water level considerably. Parallel to this scientific discovery was a globally relevant development of the world economy, namely, the opening up and catching-up process

of China. It started in 1978 and brought China to the global number one position in exports in 2013. Living standards for 1.3 billion people increased along with high economic growth. China is one of the world’s strongest innovators and green innovation in production and export could help to cope with the new problems in China and elsewhere. It is obvious that achieving more green innovations – innovations that are more environmentally friendly – is crucial for global sustainability.

          Environmental progress has been achieved in many OECD countries and government intervention in many forms has contributed to this. The OECD’s emphasis on green growth at the beginning of the twenty-first century has contributed to the modernization of environmental policy in many countries. However, many newly industrialized countries have also developed their own strategy for sustainability. Simply increasing output per capita is not sufficient to achieve a decent standard of living for current and future generations and, while international negotiations on climate policy are sometimes very tedious, there is no doubt that many people in the world have come to an understanding that a successful global climate policy is important for everybody on this planet.

        The dramatic accident at the Fukushima nuclear reactor in 2012 has encouraged some countries to adopt rather radical reforms. Germany will phase out nuclear energy by 2021 and Switzerland about a decade later. Belgium is also expected to phase out nuclear energy. This seems to be a costly decision; however, it only appears to be so, as so far nobody officially counts the risk of nuclear accidents of the type that happened in Fukushima and Chernobyl, respectively. The cost of an accident with a nuclear meltdown in a major German reactor was estimated to exceed the value of one year of Germany’s GDP. As no private insurance company would cover the risk of a nuclear accident with a meltdown of the core in the reactor, nuclear power generation should play no role in a market economy. The idea that the assets of a nuclear power generation company could help to cover damage cost is inconsistent, as the Fukushima incident has clearly shown; TEPCO, the company which suffered the Fukushima accident, would have gone bankrupt if the Japanese government had not stepped in to finance most of the damage. No form of power generation gets larger implicit subsidies from governments in so many countries than nuclear energy. Such subsidization is distorting competition and is impairing the growth of renewable energy. Long-term growth in the world economy needs affordable and safe energy.

        If global warming stems from increasing CO2 emissions, it is natural for policymakers to consider policy options for reducing such emissions (and other greenhouse gases). Coal-fired power stations are a major problem in this context, since the specific emission of CO2 is high for coal - hard coal and lignite. It is lower for natural gas burnt in power stations. It is (almost) zero for water energy and other renewables such as solar power and wind energy. The problem with renewables is that they are intermittent energy-producing options so that a sophisticated system of coordinating all the various renewable sources has to be developed. Renewable energy without adequate software and computer investment will not work. On a very sunny and windy day in Germany, in 2013 there will be 100% renewable energy production, although on average, over the whole year, the share of renewable

electricity was close to only 25% in 2013/2014. Energy generation and the share of renewables in energy generation thus is one key issue of sustainable global development.

Green innovation

          A static view of the economy and the global ecological system is not adequate; rather a

Schumpeterian innovation perspective is required. In a broader context, environmental upgrading and ecological modernization bring crucial advantages:

– A better environment will stimulate working efforts and reduce absenteeism due to the illness of workers, so that output will increase.

– A better environment raises life expectancy and thus lifetime consumption could increase.

– With a declining level of emissions (e.g., sulphur dioxide emissions), there will be less damage to the physical infrastructure and to machinery and equipment: the effective capital depreciation rate will reduce, so that in the context of a neoclassical model, the level of the growth path of per capita income will increase.

– A better environment also improves the utility of consumption - if people are healthier and can therefore enjoy consumption more than before, there will be an increase in utility. As one may assume that per capita consumption is proportionate to per capita output, a cleaner environment brings a double benefit.
– The ability of a society to switch to a higher environmental quality hinges on investment in

research and development in general and on green R&D in particular. Adequate innovation in green technological progress thus is crucial.

          In the end, voters and investors are interested in an economic and ecological system which is stable and generates long-term wealth. Sustainable development requires that future generations should have at least similar prospects of economic welfare as current generations. Moreover, if living standards for future generations are to be on a level that is at least as high as that of today’s generation, the current capital stock, broadly defined, has to be maintained.
Excerpt from: Paul Welfens, Jens K. Perret, Tony Irawan, Towards Global Sustainability:

Issues, New Indicators and Economic Policy, Springer, 2016

EXERCISE 1 Comprehension

Circle the alternative (a), (b) or (c) that most fully and correctly completes the statements

below

1. Global warming became a major issue when

(a) scientists demonstrated that polar ice was turning to water

(b) China became the number one world exporter

(c) scientific research showed that average global temperatures were rising
Global warming has been a key issue for all countries of the world economy. It only came on the agenda in the 1980s when scientists increasingly found evidence and developed simulation models which showed that CO2 emissions, cumulated since industrialization in the atmosphere, were raising the average global temperature so that glaciers would start melting and polar ice could turn to water, thus raising the global water level considerably. (paragraph 1)
2. Green innovations

(a) could play a role in building a sustainable environment

(b) are essential to building a sustainable environment
(c) will lead policymakers to build an export-based economy
green innovation in production and export could help to cope with the new problems in China and elsewhere. It is obvious that achieving more green innovations – innovations that are more environmentally friendly – is crucial for global sustainability. (end of paragraph 1)
3. OECD policies have

(a) prevented progress towards sustainability in newly industrialized countries

(b) helped many countries modernize their environmental strategy
(c) emphasized green growth at the expense of environmental policy development
Environmental progress has been achieved in many OECD countries and government intervention in many forms has contributed to this. The OECD’s emphasis on green growth at the beginning of the twenty-first century has contributed to the modernization of environmental policy in many countries (beginning of paragraph 2)
4. The Fukushima nuclear accident in 2012 led Germany, Switzerland and Belgium to

(a) question their reliance on nuclear energy
(b) take out private insurance to cover the risk of a nuclear meltdown

(c) challenge the legitimacy of the market economy
The dramatic accident at the Fukushima nuclear reactor in 2012 has encouraged some countries to adopt rather radical reforms. Germany will phase out nuclear energy by 2021 and Switzerland about a decade later. Belgium is also expected to phase out nuclear energy (beginning of paragraph 3)
5. Government subsidies to the nuclear industry are

(a) no hindrance to the development of renewable energy

(b) no hindrance to competition in energy markets

(c) detrimental to long-term global growth
No form of power generation gets larger implicit subsidies from governments in so many countries than nuclear energy. Such subsidization is distorting competition and is impairing the growth of renewable energy (end of paragraph 3)
6. The emission of CO2 is

(a) equally high for hard coal, lignite and natural gas

(b) lower for solar power than for natural gas
(c) zero for all renewable

the specific emission of CO2 is high for coal - hard coal and lignite. It is lower for natural gas burnt in power stations. It is (almost) zero for water energy and other renewables such as solar power and wind energy. (paragraph 4 lines 3-5)
7. Renewable energy

(a) does not require much investment in software and computers

(b) is 100% reliable, whatever the weather

(c) requires a highly developed system of coordination between its various sources
a sophisticated system of coordinating all the various renewable sources has to be developed (paragraph 4 lines 6-7)
8. In an upgraded environment, consumer utility will

(a) rise
(b) stabilize

(c) decrease
- A better environment also improves the utility of consumption - if people are healthier and can therefore enjoy consumption more than before, there will be an increase in utility. As one may assume that per capita consumption is proportionate to per capita output, a cleaner environment brings a double benefit.(paragraph 5)
9. Achieving a higher quality environment implies

(a) making green innovation a priority
(b) raising global consumption

(c) discarding the neoclassical model
– The ability of a society to switch to a higher environmental quality hinges on investment in

research and development in general and on green R&D in particular. Adequate innovation in green technological progress thus is crucial. (paragraph 5)
10. Sustainable development aims to

(a) limit global economic welfare

(b) ensure that future generations benefit from comparable living standards to those of current generations
(c) defend the vested interests of today’s voters and investors
Sustainable development requires that future generations should have at least similar prospects of economic welfare as current generations. (paragraph 6 lines 2-3)
EXERCISE 2 Vocabulary

(A) Use the list of definitions above to select the appropriate terms to fit each sentence

1. The governments of some countries, such as Japan, seem to hope that maintaining a high

share of nuclear energy generation is a key element for achieving a high degree of sustainable development.
2. The most common indicator used to assess both economic performance and economic

well-being is GDP.
3. Further global warming and high emissions pose risks to a rise of life expectancy in many countries.

4. The human development indicator (HDI), which considers per capita income, education and life expectancy, is broader than the standard indicator for economic development: gross domestic product (GDP).

5. One may argue that the main goal of people is a high per capita consumption and a healthy nice life in combination with a high life expectancy.

6. Transatlantic trade liberalization is largely expected to stimulate exports, income/

production, and economic welfare on both sides of the Atlantic.

7. The fact that countries such as China, India, Indonesia, Brazil, etc, have achieved high

long-term economic growth reflects the dynamics of successful economic globalization.

8. An interesting question concerns the issue of to what extent TTIP(1) will contribute to higher global output and higher emissions of greenhouse gases.
9. Asian countries – often with rather low per capita income compared to the USA or the EU – aim at further economic catching-up and high medium-term economic growth.

10. Current per capita consumption can only be maintained if the overall capital stock (physical capital, human capital, and natural capital) can be maintained.
1. Transatlantic Trade and Investment Partnership

(B) Circle the verb in column (B) that matches the meaning of the verb in column (A) as

used in the text

(A) (B)

1. raising=  affecting / strengthening / increasing
2. cope with=  accept / deal with / reduce

3. achieved=  attained / determine / maintain

4. counts=  includes / enumerates / adds up

5. estimated= thought / predicted / evaluated
6. exceed= outstrip / overtake / match

7. cover=  hide / insure against / consider

8. suffered=  allowed / supported / sustained
9. gone=  bankrupt declined / failed / collapsed

10. distorting=  interfering with / weakening / disturbing

11. impairing=  stunting / disabling / stopping

12. stems from=  symbolizes / is due to / relates to

13. upgrading= improving / promoting / innovating

14. switch to= revert to / resort to / shift to
15. hinges on= depends on / relates to / results from

EXERCISE 3 Grammar: Comparisons
Complete the sentences below with the expressions of comparison in the list:
as much / just as / compared to (with) / greater … than / unlike / much earlier than / more /

superior / lower / in comparison with / less / cleaner / higher … than
1. Belgium has not yet set a date to phase out nuclear energy, unlike Germany which is

phasing it out by 2021.

2. Germany’s phasing out of nuclear energy will be completed much earlier than Switzerland’s.

3. The nuclear accident that took place in Fukushima is judged by some observers just as serious as the one in Chernobyl, and more serious by others.

4. Government subsidies to the nuclear industry are very substantial compared to/with those received by other forms of power generation.

5. CO2 emissions are higher for coal than for natural gas.

6. A cleaner environment will stimulate working efforts and will result in less absenteeism.

7. A superior environmental quality should lead to higher life expectancy and higher lifetime

consumption.

8. With a lower level of emissions, there will not be as much damage to the physical

infrastructure as there would otherwise be.

9. If the effective capital depreciation rate is lower, per capita income in a neoclassical

model will be higher.
10. In a sustainable environment, the utility of consumption will be greater than in today’s

environment.
EXERCISE 4 Assignment: Write an essay of about 300 words on the following subject:Is climate change a challenge for sustainable development?

